
HAMMOND
MANUFACTURINGTM

ENCLOSURES

TOOL BOX

BUL101471485 / 1487 - SERIES
ASSEMBLY INSTRUCTIONS FOR DROP HANGER AND

BRACKET HANGERS (NOT SHOWN) TO WIREWAY FITTINGS

REV. C

PAGE 1 OF 2

ASSEMBLED VIEW SHOWING SEALING PLATE

SNAP ON SEALING PLATE SNAPS
ON OVER 1/4 - 20 HARDWARE
WHILE DOORS ARE OPEN.
SEALING PLATE IS SUPPLIED
WITH THE WIREWAY. SEE STEP E.

1

2

3

4

1485 FITTINGS FOR SIZES D & E
(D - 6 X 6) AND (E - 8 X 8)

PART # QTY DESCRIPTION
1 1 DROP HANGER (BRACKET HANGER)
2 12 1/4 - 20 NUT
3 3 1/4 - 20 X 3/4 BOLT W/ NUT
4 4 1/4 - 20 X 1.5 BOLT W/ SEMS WASHERS

1485 FITTINGS FOR SIZES B & C
(B - 2.5 X 2.5) AND (C - 4 X 4)

PART # QTY DESCRIPTION
1 1 DROP HANGER (BRACKET HANGER)
2 6 1/4 - 20 NUT
3 2 1/4 - 20 X 3/4 BOLT W/ NUT
4 2 1/4 - 20 X 1.5 BOLT W/ SEMS WASHERS

SOLID FLANGE GASKET

     TWO(2) NUTS REQUIRED TO SPACE 
      WIREWAY FITTING AND HANGER.  
                           SEE STEP C 
(ensure washer on nut is against each flange)

1/4 - 20 1 1/2 BOLT.
     SEE STEP C.

 1/4 - 20 3/4 BOLT TO BE
USED ON LID SIDE ONLY.
           SEE STEP C.

1485 WIREWAY FITTING

1485 WIREWAY FITTING

OPEN THE LIDS ON THE TWO MATING
WIREWAY FITTINGS BEFORE ASSEMBLY.

JOIN THE WIREWAY FITTINGS ON THE
LID SIDE OF THE WIREWAY USING THE
SOLID FLANGE GASKET AND THE 1/4 - 20
X 3/4 BOLTS AND NUTS (PARTS 2 &  3)
INCLUDED WITH THE WIREWAY.

JOIN THE WIREWAY FITTINGS ON THE
OPPOSITE SIDE OF THE LID USING 1/4 - 20
X 1.5 BOLTS AND NUTS (PARTS 2 & 4).
DOUBLE NUT THESE BOLTS.

FASTEN THE DROP HANGER / HANGER
BRACKET (PART 1) TO THE BOLTS WITH
THE DOUBLE NUTS USING 1/4 - 20 KEP
NUTS (PART 2).

ATTACH THE SNAP ON SEALING PLATE
AND CLOSE THE LIDS.  SEE DETAIL
BELOW.

ASSEMBLY INSTRUCTIONS

A)

B)

C)

D)

E)

NOTE:
ASSEMBLY OF 1487
WIREWAY IS ON PAGE 2

NOTE:  HARDWARE INCLUDED WITH FITTINGS

3/8, 7/16" Socket
Wrench or Driver

3/8, 7/16" Open
End Wrench



HAMMOND
MANUFACTURINGTM

ENCLOSURES

TOOL BOX

PAGE 2 OF 2

1485 / 1487 - SERIES
ASSEMBLY INSTRUCTIONS FOR DROP HANGER AND

BRACKET HANGERS (NOT SHOWN) TO WIREWAY FITTINGS

BUL10147
REV. C

3/8, 7/16" Socket
Wrench or Driver

3/8, 7/16" Open
End Wrench

2

4

5

3

1

1487 WIREWAY 
FITTING

1487 WIREWAY 
FITTING

STAR WASHER MUST BE
   PLACED IN BETWEEN
     WIREWAY FLANGE,
     HANGER AND BOLT.
            SEE STEP B

SOLID FLANGE GASKET

1487 FITTINGS FOR SIZES B & C
(B - 2.5 X 2.5) AND (C - 4 X 4)

PART # QTY DESCRIPTION
1 3 1/4 - 20 NUT
2 1 DROP HANGER (BRACKET HANGER)
3 6 STAR WASHER
4 1 1/4 - 20 X 3/4 BOLT W/ NUT
5 3 1/4 - 20 X 1 BOLT W/ SEMS WASHERS

1487 FITTINGS FOR SIZES B & C
(C - 6 X 6) AND (D - 8 X 8)

PART # QTY DESCRIPTION
1 5 1/4 - 20 NUT
2 1 DROP HANGER (BRACKET HANGER)
3 10 STAR WASHER
4 3 1/4 - 20 X 3/4 BOLT W/ NUT
5 5 1/4 - 20 X 1 BOLT W/ SEMS WASHERS

JOIN THE WIREWAY FITTINGS AS SHOWN USING
THE SOLID FLANGE GASKET AND THE 1/4 - 20 X
3/4 BOLTS AND NUTS (PARTS 1 & 4) INCLUDED
WITH THE WIREWAY.

FASTEN THE DROP HANGER / HANGER BRACKET
(PART 2) TO THE WIREWAY FITTINGS AS SHOWN
USING 1/2 - 20 X 1 BOLTS, WASHERS AND NUTS
(PARTS 1, 3 & 5).  STAR WASHERS MUST BE
PLACED IN BETWEEN WIREWAY FLANGE,
HANGER AND BOLT AS SHOWN.

ASSEMBLY INSTRUCTIONS

A)

B)


